TecT
brauk otBera
10-11 xmaccenl

Tect Ne 1
Ne  Ne Ne3  Ne4  NeS
4 145 2% # jﬁ
BEpPHO el 7
440 — sl
HEBEPHO NP A 7
+ — 4 — 7

Tect Ne 2 A8
Ne6  Ne7+ Ne8  Ne9

a) >/
0) N 5
= b
B) N
A5 Lx3=6
r) D>(
y 1 O O) -
Tec?C Ne 3 L G 4 ﬁg‘;ﬁ//ﬁ g 7 7.
Nel0) Nell Nel2  Nel3 ‘ s o — SRS
y e ] > & . 4&_
= R }af.,l Ao
] - T
%) >( B > ;Mig ety |
o) [ S R IRy
: i ¥ i - o e
MK E % Hrpon~
e L1 PO
i __;0/ rgé oD
[ 90 D D
Tect Ne 4 ’D/ i
Nel4 OtBert: 200 h J Y
Nel5 Oter: 429 — 0\

Kon yuactauka

7-44-2




3anaym

poA

> g e s

s Tse - iy oty 8 padvags) Ao 2RO g
ye 1B
) 5 yo Qe &
474«“-1wg,4g[3 p=¢ - HA ﬁ
Qi = 14-020 0790 (7D udeRnos g0 U= Rba
Q&3 = 200 -300  P=40 ym <= f=P< 40 Qd” an"Hdﬁ(q. " @7

Qe=2p 2 rers Qi @‘?{f'ﬁ%j@d » i e

W/M&Q/A/u-ﬂl Vi 40 p=¢0 {Q.{gﬂ @_p =5 Jypo - 200 = 2P
2e0p = 3

P*’%?\C Q" '
Qr > 2¢oe -30p 4 19-919= 19
Waq = 322 p 0
~ , / ‘/-'/h
o (G0

U =P ey - g - W

4
>W0 jo/oww 9UP L 201y

M 7= PSp0  Qfsq Q-

P=20
25 39 = 42p
P = By
1P kgl rsppdy e
Mapos b4
Qaceso &

/"/Ow~fo/> = p

==

{¢~0L .40 = 2 .%4°
qr =6o
W0~ J0-60 =242
600 = 122
13§ WZYUJWW o mpops s ~ A200

Kog yyactHuka

L@M@M‘. Z\ '\Q:“ﬂ'?’o

Y-




